® ma+ mb—-m=m(a+b)

@) 6402 + 32ab + 4b* = (8a + 2b)?
® -4a® + 9b* = (2a + 3b)(2a - 3b)
@ x*-5x-6=(x—-2)(x-3)

® 2x% = 5xy + 3y* = (x - 3y)(2x ~y)

B

@ ma+mb-m=m(a+b-1)
® —4a® + 9b* = —(2a + 3b)(2a — 3b)
@ x?-5x—6=(x—6)(x+1)
® 2x% - 5xy 4+ 3y? = (2x - 3y)(x - y)




T A X2 4 12x+ A, x% — Bx+ 49 7} SAAFA o] H L2 5H= oS

A, Bol ti5}o] A + B 9 3r&?

@ 55 @50 ® 46 @ 42 ® 38

B ~
(x+6)? = x> +12x+ 36
o A=36
(x-7)2=x%>-14x+49, -B=-14
~B=14
A+ B=36+14=50




3. 206 4+22x+A = (4x+ B)(Cx+3) € wl, ABC 2] Fto g gure
g 1=2H?

@ 40 @60 ® 70 @ 90 ® 100

~&B ~

(4x + B)(Cx + 3) = 4Cx* + (12 + BC)x + 3B
4C =20, .C=5

124+BC =22, ~B=2

A=3B, .A=6

. ABC = 60




I o] ZFA] #2 + 2x - 3, 2x% + 5x - 3 ] FE<I Q5 Fstoiat
SR

>
> ®E: x+3

2 +2x-3=(x-1)(x+3)
2x2 4+ 5x-3=(2x-1) (x + 3)




5. 3x+(3a+16)x—6 = ATMSHH (x + b)(3x—2) 7F Hek ofuf,
& a+b 9 G427

@ -3 @ -1 @0 @ 2 ® 3

~&B ~

(x+b)(3x—2) =3x* + (-2 + 3b)x — 2b O] B2
3x2 + (=2 +3b)x — 2b = 3x* + (3a + 16)x - 6
—2+43b=3a+16, —2b= -6 L b=3

L a=-3 .a+b=0




6. (x+4)2-3(x+4) & A5EalstH?

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@+9x+1) O x-TE+1)

(x+4)2-3(x+4) = (x+4)(x+4-3)
— (x4 4)(x+ 1)




7.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




AFEFHE 0|85k 1.23 x 552 — 1.23 x 452 2 A4FsHH 1.23 x| |
o] gk, [ ] ¢tell ggre 5 F51H?

@® 80 @100 ® 120 @ 140 ® 160

1.23(552 — 452) = 1.23 x 100

~[ ]=100




9. 3a’b-ab 9 257} ofd ALY

@ 1 @ a ® b @ G)arp

3a?b — ab = ab(3a - 1) °| 22 3ab? — ab 2] 150l a’b+= §lT}.




® (x=y)(x+y)

@y

O x?

® x+y

(@)X(x -Y)

4= x(x—y) °|th

o)

(x-y) T x(x-y)(x+y) T




11. o5 J"HAA P o] #HEE a
.Q o HEE bt F o,

0~ b? 9] k& Fotolet.

N
7

’ '3 \
5 v L7 0s v
0 P1 2 3 Q
> E
> "E -3-8V2
a=2-V2, b=1+22
a’>-b?=(a+b)(a-b)

=(3+ V2)(1-3v2)
=3+V2-9V2-6=-3-8V2

=(2-V2+1+2V2)(2- V2-1-2+2)




12. & 27190 a-b-c+d ] g Fstof=t

7]
@ 22 +2x—15= (x-3)(x+a)
© 2x2 +10x+ 12 =2(x + 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

@ -2x2 - 16x—32 = -2(x + d)?

Ch "
H =

[ 2
> =g 4

~&B

Dx2+2x-15=(x-3)(x+5) ~a=5

©2x2 +10x+12=2(x+3)(x+2) ~.b=2

© (x+3)(x-3)=x2-9 c=3

©® 22— 16x-32= 2(x+4)2 ~d=4

et a=5 b=2 ¢c=3,d=49B2a-b-c+d=4
olt}.




13. ax?—18x+b 7t x+1 3 2x-11 2 YrojHolA of, a + b 0] 3HS
“Fotoigt,

ax®> —18x+b=A(x+ 1)(2x - 11)
ax®> —18x+b = A(2x* - 9x — 11)
ax® —18x+ b = 2Ax* - 9Ax - 11A
A=2,a=4,b=-22
a+b=-18




14. 3x2 - Av—5 7} x— 5 & Uiro] Hold uf, A o] gt& atoit,

> E.

> Het: A=14

B

22 ax+ b 2 oA
3x> = Ax—5 = (x-5)(ax+b)

= ax?® + bx — 5ax — 5b
a=3,-5b=-5,b=1
b-ba=1-15=-14=-A,A=14




21250 k. AL o3}
A& v 2 A JIFE&5HE a(x - b)(x—¢) € W, a+b+c 9 S

T-stefet,

A2 3x% - 22x + 24 oA 45 +24 & BA BYAL,
2 3x% - 18x - 21 A x o] A5 18 & UHA| Eotrh
wh2bA 3x% - 18x 4 24 = 3(x — 2)(x — 4)
La=3,b=2,c=4

~a+b+tc=9




16. 7}27F 2a + 3, 5017} 6a2 —a - 15 Q1 ALz o] £ o] Zdol&
I =

> E.

> HEHD 10a-4

6a> —a—15= (2a+3) (3a - 5)°| =
(AZ2)=3a-5
L (B Zol) =(2a+3+3a-5)x2
= (ba—2) x2
= 10a -4




17. -y +8y-16= (A)(B) € W, A+ B = x> 9] S| & FotH(H,
x#0)

O x=1 (@)xz? ® x=3 @ x=14 ® x=5

~&B

x% —y2 4+ 8y—16 = x> — (y? — 8y + 16)
=x"-(y-4)?
=@x+y-4)x-y+4)

A+B=(x+y-4)+ (x—y+4) = 2?4

=2 x=0FEEx=2,

Z70A x #0 0| B=, x =2 ©|t},




18. x% —2xy+y? 4 2x -2y - 32 Ql5EalotH?

D (x-y=-3)(x-y+1) @ (x+2y+3)(x—y-1)
G-y +3)(x-y-1) @ (x-2-3)(x-y-1)
® (x-y+3)(x-2y+1)

B

FolA A& xof Bf HelstA
P+ (2-29)x+y*-2y-3
=22 +2-29)x+O+1)(y-3)
={x-@+DHx-(-3)}
=(x-y-1)(x-y+3)




19. a+b=10,>-b*>-3a-3b =50 & W, a—b 2] & F5}oizt.
> =

> HE: a-b=28

B

a’ - b?—-3a-3b =50

(a® - b*) - 3(a+b) =50
(a+b)(a—b)-3(a+b) =50
(@a+b)(a-b-3) =50
a+b=10°]2=2
a-b-3=5

“a-b=8




1 1
20. x-- =120, 22— o Zhe?
X X




21. a-b=29YL 0, a® - 2ab + b + 4a — 4b ©) L& L5toi},
B

>
> =g 12

B

a2 —2ab+ b2 +4a—4b = (a—b)’ +4(a-b)
=224+4x%x2
=448
=12




ol g5te] shitol

Fos KN
1 =
IS B it o] o, 442

>
> He: x+2

Z Hole a2 +4x+4
x> +4x+4=(x+2)?
wrabA] gk ¥ o] Zdol= (x + 2)




23. 2(x+2)2 4 (x+2)Bx—1) = 3x - 1)2 = —(ax + b)(cx + d) & U,
ab + cd ©] & F3H? (H a, ¢ = FF)

@-1 @3 ® 0 @ 2 ® -2

~&B

x+2=A, 3x—1=BE *|&olH
2A2 +AB-B?>= (2A-B)(A+B)
=(2x+4-3x+1)(x+2+3x-1)
—(x—=5)(4x+1)
cab+cd=1x(=5)+4x1=-1




vl

24. e EAE2A

5%
rlo

29

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)
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25.

@ 2 ® 4 @)6 ® 8

D1
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